1LY 3HRE 12kmE Ee&= A2 9int yL 9]
=

S99 ), X2ty o] WAL

12 12 1
Oy=-+ @y=— @ y=——x
x 12

@ y=-12x ® y=12x



2. x9S x>0 A AuE BA y = 2x o] T ZE A H AREHS
AUE71

@ A1 AREH @ A 2 AHEH @ A 4 AHEH

@ A1, 3AHEH ® A 2, 4 AHEH



o =
=) XC-}
A
ol /
/
= z
-2
A
2
L /"
— T
9]
4]
A
2
g i
9}
4]

Hlel] B y = }Lx o] Jefmi?

@

YA

Do

\ &

Y

0 S

—

5 2

NO




4.

Al A y = ax(a # 0) & 2= o] Akl

R TR Y

@ x7b 4 HAAL o, 1
@ x7t 5 AAL o, O
® a>00°]H 2,4 AFEHE 2|t}
@ a<0°]¥ 1,3AHE S A)det,

© x o] gro] AR y#t= A,

£ L

tlo



x o] gkl o7k x < 0 & W, AulE BA y = —ax (a > 0) 2] T

9

@ @

yA Y

)

O_»T) o] =
®
YA
o 7
®
Y
@) T



